Day 2 Answers
	[bookmark: _GoBack]Task 1
	Task 2
	Task 3
	Task 4

	Developing Task Answers
[image: ]
[image: ]
Practice
[image: ]
	Arithmetic
[image: ]





	Reasoning
Explain your answers.
Task 1
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	Problem solving
Task 1

(a)  Award ONE mark for B is (55, 30)
1
(b)  Award ONE mark for D is (55, 14)
If B and D are incorrect, ONE mark may be given for the correct y coordinate for both B and D and the same x coordinate (incorrect) for both points, i.e.
•   D is (same x as B, 14)



Task 2
(–10, –40)
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Eva has plotted
the coordinate
(4,5) incorrectly.
This should be
plotted at (4,4) to
make the
trapezium that she
wanted to draw
(an isosceles.
trapezium).
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Developing
1a. True

2a.(1,1),(1,4),(4,4),(4,1)

:
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Developing

1b. False, the coordinates of the square
are: (2, 1), (2, 3), (4,3), (4, 1)
2b.(2,1),(2,5).(4,3)

3b. y
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Greater Depth
7a. False, the coordinates of the octagon
are: (2, 6), (2, 12), (6, 12), (6, 18), (12, 18),
(12, 10), (18, 10) and (18, 4).
8a. (2, 6), (4,8), (7, 8), (7,19), (17, 19), (17,
8), (10 2
9a.
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